BORB'S Assembly Instructions

FURNITURE
MYBOBS.COM 6518-22HF/6518-21R 6/6 UHP Bed

AWARNlNG: To avoid serious personal injury:

= Carefully and strictly follow assembly instructions. Improper assembly of furniture can result in structural failure,instability of the product, or
tip-over.

* Monitor and carefully control the assembly components. These include small parts and hardware that may present a choking hazard to small
children. Bob's funrniture should be assembled only by responsible adults and children should not be involved in the assembly process.

+ Where provided, wall mounting hardware should always be used as prescribed in these instructions to anchor furniture to wall.
Proper use of the wall mounting hardware can significantly reduce the potential for furniture tip-over and crushing injuries.

Thank you for purchasing this quality product .Be sure to check all packing materials carefully for small parts which may have
come loose inside the carton during shipment . Identify and count all parts and compare with the parts list below .
**Assemble the product on a flat , soft surface such as a carpet or cloth to prevent scratching the finish . Read all instruction and

study the drawings carefully before starting the assembly process.

. I . i
Code|Hardware List Q'ty Code|Part List Q'ty
516" x2 1/2™ L A | Headboard Cushion Q 1 PC
1 Allen Head Bolt 2PCS
5/16"*L8omm B Headboard @ 1PC
2 Full thread screw H BRCS ;
3 5/16" Flat Washer @ 10PCS £ Footboard / 1PC
4 5/16" Spring Washer @ 10PCS D Rails \\ 2 PCS
5 5/16" Hex Nut & |srcs E | Headboararag @ S
B 4mm Allen Wrench ﬂtﬁ 1PC F m—_— ﬁ""? i
¥ Wrench #13 Gg::'-l 1PC
G | SaatSupportleg 2 10 PCS
B M4 x 1 1/4" Screw @m. 10PCS
H | Shat / 5 PCS

Step 1.1

STEP 2.2

*Q':DﬁF

LS

Leveler

J
Cleaning Instruction:Clean finished parts with a mild dishwashing liquild and water solution on a damp cloth . Polish the
finish with soft cloth and an industry recognized furniture polish.

Page 1 of 2 Made in Vietham



DDDDDDDD

FURNITURE

MYROES.COM

Shake up and down the Headboard
Cushion for several times to make it
sag naturally, then press to make
the Velcro on the back fit properly

Page 2 of 2 Made in Vietham



